opuIp
ortex

moyn N s oonn

7V MInT q7

DOI12D

DoIpOTE

e

—9

N1an qUin

I(+10) MM X9

NNT oV
20 nynn |2 ixpm yna
-~ L3 — |
\ F g \
l.h '
/m*1 | naT | quin A
{ »pn |:mon|[:napnn <AL :IM2
(..\;y\ Ymoni QRN NN 727320 NNN 910
( ‘_: 1 +4 N9PNNA NN : i t
N (x5) 000 10 :p12 n'ninmiy |
~s N0V 2'IN] YAID NNN non
o | 1 +6 JANKXN 212'02 72 VIA9Y
=t 000 20 ;g1 TJA1 N\ Y}

®
1 =

%% -1
wtnn

TN Y780 NNKX )2 W29 DX
NopNNN NX 72727 2NN
.wTnn

n'"My

nlm'rme;l

NIX TNX N7 Nyn non

f Y o) \
I3 +8 (monn 11 +2) 2'xn ﬂ@ﬂ_ X
9 000 20 ;311 MWyn =
‘J‘} LN @ 1272 Y¥IN DNN TWUND In N
&'{fl 3, r IN2I 0"AY9 7A71 ,n'mn
~fd L"};’; .NNRAN ARXINN NN ni7iann
’ .- ANIX AN AIRD DX QN ANK
\ g\’ 3 +4 noT) +20 :pna .'mll' [An 207
| i OO0 (mxano:g+2q90m | [O'OINN
® | ok nwhun ne v ox .UI73-1 e 4
4 cons1 | MDY +1 90ma o7 [Inna ‘
LSS JINI9] 2'IRD NN NIN ANX nn
LY : 5 +4 n7¥n) qunnn & 5+ 25 :gn L D
(+10) OOQ  10:axuna  (oro? 7Ny
. NTRM N7 70 NN TANYX
6 m;_) 44| D'7wA D¥ONN nIN7INN
n'ma NNy n-")L’n
i {7 r +3 NI 271 1O ANK aon b
t§'§ 7 U129 MIN
'? (+5) 10X 1007 @ (-2) + 20 ;g1 nW'ITnn

A

[IWRIN NNX DX
nIUN AP QEINY
pta? +10 qoin

» OO

yno

NoINN

)

o]

i /
gl "']U'Irl/ /

MInTA X

O1"N
1312 N0 89 B8 7 6 5 4 3

091" PN
1312 N0 8 87 6 5 4 3

maiann
1312 N1WSe B8 76 5 4 3

ALk
1312 NM1WS B 7654 3

n'nan
1312 N0 89 B 7 6 5 4 3




opuYy D’D12D

L2 DOIPYT
7IwYR MY 0N
N === .
g
Ay :wn yrn

Wanaanntd

-
-
-
-
-
-

AL —~—

BRSNS LR
DMP'Y NMan

% , N0 Naw ‘niavy
N\

e

N O]
*m- o NT TN

’ i
:quin ,//// :uman ow

) =

PN

a'n
:a"n
'n

{10 2N




